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These may eat T’rumoh — 77723702 2992 IR 9T

OVERVIEW

Xwwn 27 ruled that if the baby of a N> got mixed up with the baby of her frow,
both children may eat 7m17n. Our NM©OIN reconciles our X3 with a seemingly
contradictory RXn3.

Mmoo anticipates a difficulty:
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And this which 5w stated in the first P22 of n123n> noon regarding ten 217>
who were before us and one of them separated himself from the group and was

B3 a woman; the rule is -
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That the child is a >, meaning that we silence him from the rights of 71715 -
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Since it is written, ‘and (the 717770) shall be for him and his children after him’

we expound this to mean that his children should be identified after him (the
father) —

mooIn responds:
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However the X713 states in m2uNR7 Dy PXw p9p that this requirement of w77

vamR o9 is a Rabbinic decree -
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And when did the 3129 ordain this decree only in a case of 1, however if it was
a legitimate marriage they did not issue this decree —

moon offers an alternate solution:

! The term *pinw (silenced) is generally used regarding a child whose father is not known. Whenever the child
addresses anyone as his father, his mother silences him saying P1nw pinw (this is not your father).

% See *"wA there 771 11"7 who writes; 7190 99RY K91 7712y 712 XOW.
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* In the case of the ten 0°1712, however, even though we know that the father of this child is a 373, nevertheless since
we cannot link him directly to his father, he may not eat fn17n. Similarly in the case of X*wwn 27 since none of the
children (one of them who is a j72 72) can identify his father, they should not be permitted to eat im17n. See
‘Thinking it over’ # 2.

5 In the case of the ten 2°1779, the 3770 who was w2® was n1ra 513, therefore his child is a *pinw.

% Here where the children were mixed up, the child was born from a proper X3, therefore there is no 77°13 and he
may eat 7:2170.
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Or you may also say that here they became mixed up after they were born;
initially we were aware who was the child of the 772 and who his father was, therefore he is orm™
11X even though that later they became mixed up

SUMMARY

The children may eat 7m0 either because the requirement of IR 07N WIT only
excludes a case of N7, not of PXW"I, or the children were initially identified and
got mixed up later.

THINKING IT OVER
1. Why is there a need for a second answer® since the X713 in M2 states that nara
1913 KD PRIW12 1713, therefore they may eat 7217n?!

2. In our case we know who is the father of the 175 j2, we just do not know which
child is the 773 12; obviously the fmaw 12 does not need 1R ©0M M WAL, so we know
who the father of the 772 72 is; it is not comparable to the case of 0°172 77wy where
we do not know who the father is. How can n1901n compare the two cases?!

7 See ‘Thinking it over’ #1. See (also) 72077 *W9n XK # 241.
¥ See footnote # 7.
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